

AUGMENTED PASCAL MATRIX AND ITS PROPERTY

GONCA KIZILASLAN, TAEKYUN KIM, AND DMITRIY V. DOLGY

ABSTRACT. We define a matrix which has a Pascal matrix block in its Cholesky factorization. We define augmented Pascal matrix by this factorization and we present a generalization and another version of this matrix. We obtain some properties of the generalized augmented Pascal matrix and present a relation with coefficients of Bernoulli polynomials. We also give a factorization of augmented Pascal matrix which has a connection with Fibonacci matrix and also obtain a factorization of the other version and we see that this factorization has entries related with generalized Stirling numbers.

1. INTRODUCTION

Pascal's triangle is a very suitable structure for exploring, formulating and proving mathematical patterns and for doing many interesting experiments. We denote the Pascal matrix of order n as P_n and its form is as following

$$P_n := \left[\binom{i}{j} \right]_{0 \leq i, j \leq n-1} = \begin{bmatrix} 1 & 0 & 0 & 0 & \cdots & 0 \\ 1 & 1 & 0 & 0 & \cdots & 0 \\ 1 & 2 & 1 & 0 & \cdots & 0 \\ 1 & 3 & 3 & 1 & \cdots & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots \\ \binom{n}{0} & \binom{n}{1} & \binom{n}{2} & \binom{n}{3} & \cdots & \binom{n}{n} \end{bmatrix}. \quad (1.1)$$

This magical structure has many features and deep knowledge that attract the attention of many researchers, see [1–9, 11–19]. Most of the articles in the literature give generalizations, factorizations and combinatorial properties of Pascal's matrix. In these generalizations, authors put some parameters and variables in the Pascal matrix (1.1) and study some algebraic properties of these matrices. In [3], a matrix for two variables x and y is defined by removing the columns of Pascal matrix.

In this paper, we examine a symmetric matrix which has a similar construction with symmetric Pascal matrix for $x = y = 1$. The Cholesky factorization of this defined matrix is seen to be related both the Pascal matrix and in some manner the matrix defined in [3]. We call the lower triangular matrix in this factorization as augmented Pascal matrix and this matrix has interesting connections with the Bernoulli polynomials $B(n, x)$ which can be defined by a generating function

$$\frac{te^{xt}}{e^t - 1} = \sum_{n=0}^{\infty} B(n, x) \frac{t^n}{n!}.$$

2010 *Mathematics Subject Classification.* 05A10; 15A09; 11C08; 11B68; 11B73.

Key words and phrases. Pascal matrix; Binomial coefficients; Matrix inversion; Euler numbers; Bernoulli numbers; Stirling numbers.

Corresponding author: T. Kim. E-mail:tkkim@kw.ac.kr.

We are interested in several properties and factorizations of the augmented Pascal matrix. One of the factorization of this matrix has a connection with the Fibonacci matrix. The Fibonacci matrix $\mathcal{F}_n[x]$ of order n is defined by

$$\mathcal{F}_n[x]_{i,j} = \begin{cases} F_{i-j+1}x^{i-j}, & \text{if } i - j + 1 \geq 0, \\ 0, & \text{otherwise,} \end{cases} \tag{1.2}$$

where F_n is the n -th Fibonacci number. We obtain another interesting matrix using augmented Pascal matrix and this matrix has some factorizations which has entries related with the generalized Stirling numbers defined by

$$a(n) = n! \sum_{k=0}^{n-1} \frac{k+1}{n-k}. \tag{1.3}$$

The first few terms of these numbers are 0, 1, 5, 26, 154, 1044, ...

2. AUGMENTED PASCAL MATRIX

In this section, we define a matrix with indeterminate x and obtain some factorizations and properties of it and the matrices in its Cholesky factorization.

Definition 1. A symmetric matrix Q_n of order $n + 1$ with (i, j) entry $Q_n\{i, j\}$ defined by $Q_n\{i, j\} = 1 + \binom{i+j-2}{j-1}$.

The matrix Q_n satisfy the following construction rule for $i, j = 1, 2, \dots, n$

$$Q_n\{i, j\} = Q_n\{i - 1, j\} + Q_n\{i - 1, j - 1\} - 1$$

and for $j = 0, 1, \dots, n$

$$Q_n\{0, j\} = Q_n\{j, 0\} = 1.$$

Example 1. The matrix Q_5 is as follows

$$\begin{bmatrix} 1 & 1 & 1 & 1 & 1 & 1 \\ 1 & 2 & 2 & 2 & 2 & 2 \\ 1 & 2 & 3 & 4 & 5 & 6 \\ 1 & 2 & 4 & 7 & 11 & 16 \\ 1 & 2 & 5 & 11 & 21 & 36 \\ 1 & 2 & 6 & 16 & 36 & 71 \end{bmatrix}.$$

Lemma 1. The Cholesky factorization of Q_n is given by $Q_n = A_n A_n^T$ where A_n is a matrix of the form

$$\begin{bmatrix} 1 & \mathbf{0} \\ \mathbf{1} & P_{n-1} \end{bmatrix}$$

with P_{n-1} is the well known Pascal matrix of order n .

In [3], the defined matrix is obtained by eliminating the columns of the Pascal matrix, but here we add a column and row to the Pascal matrix.

Definition 2. The matrix A is called as augmented Pascal matrix.

The row sums of the matrix A gives the expansion of

$$\frac{1 - x - x^2}{(1 - x)(1 - 2x)},$$

and the k -th power of A_n is given by

$$\begin{bmatrix} 1 & & & & & \\ B(1, 1+k) - B(1, 1) & 1 & & & & \\ \frac{B(2, 1+k) - B(2, 1)}{2} & k & 1 & & & \\ \frac{B(3, 1+k) - B(3, 1)}{3} & k^2 & 2k & 1 & & \\ \frac{B(4, 1+k) - B(4, 1)}{4} & k^3 & 3k^2 & 3k & 1 & \\ \dots & \dots & \dots & \dots & \dots & \dots \end{bmatrix},$$

for Bernoulli polynomials $B(n, x)$. Let us consider a generalization of the matrix A_n for one variable x . Let $A_n[x]$ be a matrix of the form

$$\begin{bmatrix} 1 & \mathbf{0} \\ \mathbf{X}_{n-1} & P_{n-1}[x] \end{bmatrix} \tag{2.1}$$

where $\mathbf{X}_{n-1} = [x, x^2, \dots, x^n]^T$ and $P_{n-1}[x]$ is the generalization of the Pascal matrix P_{n-1} for one variable x . The following theorem gives the multiplication property of two matrices $A_n[x]$ and $A_n[y]$.

Theorem 1. For $i, j \geq 1$, the (i, j) entry of the matrix $A_n[x]A_n[y]$ equals the (i, j) entry of the matrix $A_n[x + y]$ and the entries in the column zero of the product is given by $[1, x + y, x^2 + y(x + y), x^3 + y(x + y)^2, \dots, x^n + y(x + y)^{n-1}]^T$.

Proof. The matrix $A_n[x]$ is given in (2.1). Using the definition of multiplication of two matrices and the relation satisfied by Pascal matrices

$$P_{n-1}[x]P_{n-1}[y] = P_{n-1}[x + y],$$

we get the result. □

The inverse of the matrix $A_n[x]$ is given as follows.

Theorem 2. For $i, j \geq 1$, the (i, j) entry of the matrix $A_n[x]^{-1}$ equals the (i, j) entry of the matrix $A_n[-x]$ and the entries in column zero of the inverse matrix is given by $[1, -x, 0, \dots, 0]^T$.

Proof. By Theorem 1, the column zero of $A_n[x]A_n[-x]$ is given by $[1, 0, 0, \dots, 0]^T$. Since

$$P_{n-1}[x]P_{n-1}[-x] = I_{n-1},$$

we obtain that $A_n[x]^{-1} = A_n[-x]$. □

Let R_n be a lower triangular matrix of order n with entries,

$$\begin{aligned} R_n\{i, 0\} &= [1, 1, 0, 0, 1, 4, 11, 26, 57, \dots] \\ R_n\{i, j\} &= -\binom{i-1}{j+1} - \binom{i-1}{j} + \binom{i-1}{j-1} \text{ for } i, j = 1, 2, \dots, n. \end{aligned}$$

Here, one can see that the numbers $\{0, 0, 1, 4, 11, 26, 57, \dots\}$ in the zeroth column are the Eulerian numbers. Let F_n^* be a lower triangular matrix of order n defined by the entries

$$\begin{aligned} F_n^*\{i, 0\} &= [1, 0, 1, 0, 1, 0, \dots] \\ F_n^*\{i, j\} &= \mathcal{F}_n[1]\{i, j\} \text{ for } i, j = 1, 2, \dots, n. \end{aligned}$$

Then we have the following result.

Theorem 3.

$$A_{n-1}[1] = R_n F_n^*.$$

Proof. By the definitions of the matrices $A_n[1]$, R_n and F_n^* , we can easily prove that $A_{n-1}[1](F_n^*)^{-1} = R_n$. \square

Let $Y_n[x]$ be the matrix with entries $Y_n[x]\{i, i\} = 1$ for $i \geq 0$, $Y_n[x]\{i, 0\} = -\frac{(i-1)x^i}{i}$ for $i \geq 1$ and all others are 0. Let $Y_n[x]A_n[x] = \tilde{A}_n[x]$. Then we have that

$$\tilde{A}_n[x] = \begin{bmatrix} 1 & \mathbf{0} \\ \tilde{\mathbf{X}}_{n-1} & P_{n-1}[x] \end{bmatrix}$$

where $\tilde{\mathbf{X}}_{n-1} = [x, x^2/2, x^3/3, \dots, x^n/n]^T$ and $P_{n-1}[x]$ is the generalization of the Pascal matrix P_{n-1} for one variable x .

Now, we investigate the properties of the matrix $\tilde{A}_n[x]$. The proofs can be done similarly as in the proofs of Theorem 1 and Theorem 2.

Theorem 4. For $i, j \geq 0$, we have $\tilde{A}_n[x]\tilde{A}_n[y] = \tilde{A}_n[x+y]$.

The inverse of the matrix $\tilde{A}_n[x]$ is given as follows.

Theorem 5. For $i, j \geq 0$, we have $\tilde{A}_n[x]^{-1} = \tilde{A}_n[-x]$.

We will present some factorizations of the matrix $\tilde{A}_n[x]$. Let $U_n[x]$ be a lower triangular matrix defined by

$$\begin{aligned} U_n[x]\{i, 0\} &= \tilde{A}_n[x]\{i, 0\} \\ U_n[x]\{2, 1\} &= 0 \text{ and } U_n[x]\{i, 1\} = -\frac{a(i-2)x^{i-1}}{(i-1)!} \text{ for } i \geq 3, \\ U_n[x]\{i, j\} &= x^{i-j} \text{ for } j \geq 2, \end{aligned}$$

where $a(n)$ is the n -th generalized Stirling number defined in (1.3), $\tilde{B}_n[x]$ be the matrix of the form

$$\begin{bmatrix} 1 & \mathbf{0} \\ \mathbf{0} & \tilde{A}_n[x] \end{bmatrix},$$

and $F_m[x]$ be the matrix of the form

$$F_m[x] := \begin{bmatrix} I_{n-m-1} & \mathbf{0} \\ \mathbf{0} & U_m[x] \end{bmatrix} \text{ for } m = 1, 2, \dots, n-1, \text{ and } F_n[x] := U_n[x].$$

Lemma 2. For $m \geq 1$, $U_m[x]\tilde{B}_{m-1}[x] = \tilde{A}_m[x]$.

Proof. For $m = 1$, we have $\tilde{B}_{m-1}[x]$ is the identity matrix and $\tilde{A}_m[x] = U_m[x]$. Let $m > 1$. One can see that $U_m[x]$ has a block matrix which is equal to the matrix $S_m[x]$ that corresponds to the Pascal matrix $P_m[x]$. The proof follows from the matrix product and properties of the matrices $S_m[x]$. \square

Example 2.

$$\begin{aligned}
 & U_5[x]\overline{B}_4[x] \\
 &= \begin{bmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ x & 1 & 0 & 0 & 0 & 0 \\ \frac{1}{2}x^2 & 0 & 1 & 0 & 0 & 0 \\ \frac{1}{3}x^3 & -\frac{1}{2}x^2 & x & 1 & 0 & 0 \\ \frac{1}{4}x^4 & -\frac{1}{6}5x^3 & x^2 & x & 1 & 0 \\ \frac{1}{5}x^5 & -\frac{1}{24}26x^4 & x^3 & x^2 & x & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & x & 1 & 0 & 0 & 0 \\ 0 & \frac{1}{2}x^2 & x & 1 & 0 & 0 \\ 0 & \frac{1}{3}x^3 & x^2 & 2x & 1 & 0 \\ 0 & \frac{1}{4}x^4 & x^3 & 3x^2 & 3x & 1 \end{bmatrix} \\
 &= \begin{bmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ x & 1 & 0 & 0 & 0 & 0 \\ \frac{1}{2}x^2 & x & 1 & 0 & 0 & 0 \\ \frac{1}{3}x^3 & x^2 & 2x & 1 & 0 & 0 \\ \frac{1}{4}x^4 & x^3 & 3x^2 & 3x & 1 & 0 \\ \frac{1}{5}x^5 & x^4 & 4x^3 & 6x^2 & 4x & 1 \end{bmatrix} \\
 &= \tilde{A}_5[x].
 \end{aligned}$$

The following theorem is an immediate consequence of Lemma 2 and definition of the matrices $F_m[x]$.

Theorem 6. *The matrix $\tilde{A}_n[x]$ can be factorized by the matrices $F_n[x]$ as*

$$\tilde{A}_n[x] = F_n[x]F_{n-1}[x] \dots F_1[x].$$

Example 3. *Since*

$$\tilde{A}_5[x] = \begin{bmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ x & 1 & 0 & 0 & 0 & 0 \\ \frac{1}{2}x^2 & x & 1 & 0 & 0 & 0 \\ \frac{1}{3}x^3 & x^2 & 2x & 1 & 0 & 0 \\ \frac{1}{4}x^4 & x^3 & 3x^2 & 3x & 1 & 0 \\ \frac{1}{5}x^5 & x^4 & 4x^3 & 6x^2 & 4x & 1 \end{bmatrix},$$

we can factorize this matrix as

$$\begin{aligned}
 F_5[x]F_4[x]F_3[x]F_2[x]F_1[x] &= \begin{bmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ x & 1 & 0 & 0 & 0 & 0 \\ \frac{1}{2}x^2 & 0 & 1 & 0 & 0 & 0 \\ \frac{1}{3}x^3 & -\frac{1}{2}x^2 & x & 1 & 0 & 0 \\ \frac{1}{4}x^4 & -\frac{1}{6}5x^3 & x^2 & x & 1 & 0 \\ \frac{1}{5}x^5 & -\frac{1}{24}26x^4 & x^3 & x^2 & x & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & x & 1 & 0 & 0 & 0 \\ 0 & \frac{1}{2}x^2 & 0 & 1 & 0 & 0 \\ 0 & \frac{1}{3}x^3 & -\frac{1}{2}x^2 & x & 1 & 0 \\ 0 & \frac{1}{4}x^4 & -\frac{1}{6}5x^3 & x^2 & x & 1 \end{bmatrix} \times \\
 & \begin{bmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & 0 \\ 0 & 0 & x & 1 & 0 & 0 \\ 0 & 0 & \frac{1}{2}x^2 & 0 & 1 & 0 \\ 0 & 0 & \frac{1}{3}x^3 & -\frac{1}{2}x^2 & x & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & 0 \\ 0 & 0 & 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & x & 1 & 0 \\ 0 & 0 & 0 & \frac{1}{2}x^2 & 0 & 1 \end{bmatrix} \begin{bmatrix} 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & 1 & 0 & 0 & 0 \\ 0 & 0 & 0 & 1 & 0 & 0 \\ 0 & 0 & 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 0 & x & 1 \end{bmatrix}
 \end{aligned}$$

Let $V_n[x]$ be the lower triangular matrix defined by

$$\begin{aligned} V_n[x]\{i, i\} &= 1 \\ V_n[x]\{i, 0\} &= -\tilde{A}_n[x]i, 0 \text{ for } i \geq 1 \\ V_n[x]\{2, 1\} &= \left[0, 1, 0, \frac{x^2}{2}, \dots, \frac{x^{n-1}}{n-1}\right]^T \\ V_n[x]\{i+1, i\} &= -x \text{ for } i \geq 2, \\ V_n[x]\{i, j\} &= 0 \text{ otherwise.} \end{aligned}$$

It is easy to see that $U_n[x]^{-1} = V_n[x]$. Then for the inverse of the matrix $\tilde{A}_n[x]$, we get

Lemma 3.

$$\begin{aligned} \tilde{A}_n[x]^{-1} &= F_1[x]^{-1}F_2[x]^{-1} \dots F_n[x]^{-1} \\ &= G_1[x]^{-1}G_2[x]^{-1} \dots G_n[x]^{-1} \end{aligned}$$

where

$$G_m[x] := \begin{bmatrix} I_{n-m-1} & \mathbf{0} \\ \mathbf{0} & V_m[x] \end{bmatrix} \text{ for } m = 1, 2, \dots, n-1, \text{ and } G_n[x] := V_n[x].$$

By Theorem 5, we have $\tilde{A}_n[x]^{-1}\{i, j\} = (-1)^{i+j}\tilde{A}_n[x]\{i, j\}$, we get the following result.

Theorem 7. For a diagonal matrix $J_n = \text{diag}[1, -1, 1, -1, \dots, (-1)^n]$, we have

$$\tilde{A}_n[x]^{-1} = \tilde{A}_n[-x] = J_n\tilde{A}_n[x]J_n.$$

In the following result, we give another factorization of the matrix $\tilde{A}_n[x]$ with separating the variable x .

Theorem 8. Let $D_n[x] = \text{diag}[1, x, x^2, x^3, \dots, x^n]$ be a diagonal matrix. For any positive integer n and any non-zero real number x , we have

$$\tilde{A}_n[x] = D_n[x]\tilde{A}_n[1]D_n[x]^{-1}.$$

Now, we give a relation between the augmented Pascal matrix $\tilde{A}_n[x]$ and the Fibonacci matrix. Let $F_n[x]$ be the matrix of order $n+1$ defined by

$$\begin{bmatrix} 1 & \mathbf{0} \\ \mathbf{0} & \mathcal{F}_n[x] \end{bmatrix},$$

where $\mathcal{F}_n[x]$ is the matrix given in (1.2). For $\mathbf{Y}_{n-1} = [-x, x^2/2, -x^3/3, \dots, (-1)^{i+1}x^n/n]^T$, which is also the i -th term of the vector $\tilde{\mathbf{X}}_{n-1}$ times $(-1)^{i+1}$, let $\mathcal{L}_n[x]$ be the matrix of order $n+1$ defined by

$$\begin{bmatrix} 1 & \mathbf{0} \\ \tilde{\mathbf{Y}}_{n-1} & \mathcal{L}_n[x] \end{bmatrix},$$

where $\mathcal{L}_n[x]$ is the Fibonacci Pascal triangle read by rows

$$\begin{aligned} \mathcal{L}_n[x]\{i, i\} &= 1 \\ \mathcal{L}_n[x]\{i, i-1\} &= -(i-1)x \\ \mathcal{L}_n[x]\{i, 0\} &= \mathcal{L}_n[x]\{i-1, 1\}x^2 \\ \mathcal{L}_n[x]\{i, k\} &= \mathcal{L}_n[x]\{i-1, k-1\} - \mathcal{L}_n[x]\{i-1, k\}x \text{ for } 0 < k < i-1. \end{aligned}$$

Then we have the following result.

Theorem 9.

$$F_n[x] = \tilde{A}_{n-1}[x]\mathcal{L}_n[x].$$

Proof. By the definitions of the matrices $\tilde{A}_n[x]$, $\mathcal{L}_n[x]$ and $F_n[x]$, we can easily prove that $\tilde{A}_n[x]^{-1}F_n[x] = \mathcal{L}_n[x]$. \square

The analogous of the classical exponential function can also be defined as a matrix function for square matrices. This function is called matrix exponential. In other words, for any square matrix S , the exponential of S is defined to be the matrix

$$e^S = I + S + \frac{S^2}{2!} + \frac{S^3}{3!} + \dots + \frac{S^k}{k!} + \dots$$

In the last part of this section, we will present the exponential of a special matrix and show a relation with $\tilde{A}_n[x]$. Let S_n be the matrix defined by

$$\begin{bmatrix} 0 & 0 & 0 & 0 & \dots & 0 \\ 1 & 0 & 0 & 0 & \dots & 0 \\ 0 & 1 & 0 & 0 & \dots & 0 \\ 0 & 0 & 2 & 0 & \dots & 0 \\ 0 & 0 & 0 & 3 & \vdots & 0 \\ \vdots & \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & \dots & \dots & n-1 & 0 \end{bmatrix}. \tag{2.2}$$

Lemma 4. For every nonnegative integer k , the entries of the matrix S_n^k are given by

$$(S_n^k)_{i,j} = \begin{cases} \prod_{m=0}^{k-1} S_n\{m+j+1, m+j\}, & \text{if } i = j+k, \\ 0, & \text{otherwise.} \end{cases}$$

Proof. The proof will be done by induction on k . The case $k = 0$ follows straightforward. Let us assume the inductive hypothesis on $S_n^{k+1} = S_n S_n^k$. It is not hard to see for $i \neq j+k+1$, $(S_n^{k+1})_{i,j} = 0$. For $i = j+k+1$, we have

$$\begin{aligned} (S_n^{k+1})_{i,j} &= [S_n S_n^k]_{i,j} = S_n\{j+k+1, j+k\} \prod_{m=0}^{k-1} S_n\{m+j+1, m+j\} \\ &= \prod_{m=0}^k S_n\{m+j+1, m+j\} \end{aligned}$$

and the proof is completed. \square

Theorem 10. For $n \in \mathbb{N}$ and $x \in \mathbb{R}$, we have

$$\tilde{A}_n[x] = e^{S_n x}.$$

Proof. Suppose that there is a matrix L_n such that $\tilde{A}_n[x] = e^{L_n x}$. Then we have

$$\frac{d}{dx} \tilde{A}_n[x] = L_n e^{L_n x} = L_n \tilde{A}_n[x]$$

and so

$$\frac{d}{dx} \tilde{A}_n[x] \Big|_{x=0} = L_n.$$

Thus there is at most one matrix L_n such that $\frac{d}{dx}\tilde{A}_n[x] = e^{L_n x}$. It can be easily seen that $L_n = S_n$, where S_n is the matrix given in the definition 2.2, by calculating $\frac{d}{dx}\tilde{A}_n[x] |_{x=0}$. We conclude that $S_n^k = 0$ for $k \geq n + 1$, thus

$$e^{S_n x} = \sum_{k=0}^n S_n^k \frac{x^k}{k!}.$$

For $i < j$, we see that $(e^{S_n x})\{i, j\} = 0$ and we also have $(e^{S_n x})\{i, i\} = 1$. Now, suppose that $i > j$ and let $i = j + k$.

$$(e^{S_n x})\{i, j\} = (S_n^k)_{i,j} \frac{x^k}{k!} = \frac{x^k}{k!} \prod_{m=0}^{k-1} S_n\{m + j + 1, m + j\} = \tilde{A}_n[x]\{i, j\}.$$

Hence the proof is completed. □

Example 4. We obtain the matrix $\frac{d}{dx}\tilde{A}_5[x]$ by taking the derivative of each entry of the matrix $\tilde{A}_5[x]$ with respect to x . Thus

$$\frac{d}{dx}\tilde{A}_5[x] = \begin{bmatrix} 0 & 0 & 0 & 0 & 0 & 0 \\ 1 & 0 & 0 & 0 & 0 & 0 \\ x & 1 & 0 & 0 & 0 & 0 \\ x^2 & 2x & 2 & 0 & 0 & 0 \\ x^3 & 3x^2 & 6x & 3 & 0 & 0 \\ x^4 & 4x^3 & 12x^2 & 12x & 4 & 0 \end{bmatrix}.$$

Hence we have

$$S_5 = \frac{d}{dx}\tilde{A}_5[x] |_{x=0} = \begin{bmatrix} 0 & 0 & 0 & 0 & 0 & 0 \\ 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 & 0 & 0 & 0 & 0 \\ 0 & 0 & 2 & 0 & 0 & 0 \\ 0 & 0 & 0 & 3 & 0 & 0 \\ 0 & 0 & 0 & 0 & 4 & 0 \end{bmatrix}$$

and

$$S_5^2 = \begin{bmatrix} 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \\ 1 \times 1 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 \times 2 & 0 & 0 & 0 & 0 \\ 0 & 0 & 2 \times 3 & 0 & 0 & 0 \\ 0 & 0 & 0 & 3 \times 4 & 0 & 0 \end{bmatrix},$$

$$S_5^3 = \begin{bmatrix} 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \\ 1 \times 1 \times 2 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 \times 2 \times 3 & 0 & 0 & 0 & 0 \\ 0 & 0 & 2 \times 3 \times 4 & 0 & 0 & 0 \end{bmatrix},$$

$$S_5^4 = \begin{bmatrix} 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \\ 1 \times 1 \times 2 \times 3 & 0 & 0 & 0 & 0 & 0 \\ 0 & 1 \times 2 \times 3 \times 4 & 0 & 0 & 0 & 0 \end{bmatrix},$$

$$S_5^5 = \begin{bmatrix} 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 \\ 1 \times 1 \times 2 \times 3 \times 4 & 0 & 0 & 0 & 0 & 0 \end{bmatrix}.$$

At the end of this section, we will find the explicit inverse of the matrix $R_n[x] = [I_n - \lambda \tilde{A}_n[x]]^{-1}$ for all numbers $|\lambda| < 1$. So, we need the following result.

Lemma 5 ([10], Corollary 5.6.16). *A matrix A of order n is nonsingular if there is a matrix norm $\|\cdot\|$ such that $\|I - A\| < 1$. If this condition is satisfied,*

$$A^{-1} = \sum_{k=0}^{\infty} (I - A)^k.$$

Theorem 11. *The matrix $R_n[x]$ is defined for all numbers $|\lambda| < 1$. The entries of the matrix are*

$$(R_n[x])\{i, i\} = \frac{1}{1 - \lambda}$$

and

$$(R_n[x])_{i,j} = (\tilde{A}_n[x])\{i, j\} Li_{j-i}(\lambda)$$

for $i > j$, where $Li_n(z)$ is the polylogarithm function

$$Li_n(z) = \sum_{k=1}^{\infty} \frac{z^k}{k^n}.$$

Proof. The statement in Lemma 5 gives us that if $\|\cdot\|$ is a matrix norm and if $\|A\| < 1$ for a square matrix of order n , then $I - A$ is invertible and $(I - A)^{-1} = \sum_{k=0}^{\infty} A^k$. Then for $|\lambda| < 1$, we can write

$$(R_n[x])\{i, j\} = \sum_{k=0}^{\infty} (\tilde{A}_n[x])^k \lambda^k = \sum_{k=0}^{\infty} (\tilde{A}_n[xk])_{i,j} \lambda^k = (\tilde{A}_n[x])\{i, j\} \sum_{k=0}^{\infty} \lambda^k k^{i-j}.$$

We obtain the desired result by writing the sum for $i = j$ and $i > j$. □

Example 5.

$$\begin{aligned} I_4 - \lambda \tilde{A}_4[x] &= I_4 - \begin{bmatrix} \lambda & 0 & 0 & 0 & 0 \\ x\lambda & \lambda & 0 & 0 & 0 \\ \frac{1}{2}\lambda x^2 & \lambda x & \lambda & 0 & 0 \\ \frac{1}{3}\lambda x^3 & \lambda x^2 & 2\lambda x & \lambda & 0 \\ \frac{1}{4}\lambda x^4 & \lambda x^3 & 3\lambda x^2 & 3\lambda x & \lambda \end{bmatrix} \\ &= \begin{bmatrix} 1 - \lambda & 0 & 0 & 0 & 0 \\ -x\lambda & 1 - \lambda & 0 & 0 & 0 \\ -\frac{1}{2}\lambda x^2 & -\lambda x & 1 - \lambda & 0 & 0 \\ -\frac{1}{3}\lambda x^3 & -\lambda x^2 & -2\lambda x & 1 - \lambda & 0 \\ -\frac{1}{4}\lambda x^4 & -\lambda x^3 & -3\lambda x^2 & -3\lambda x & 1 - \lambda \end{bmatrix} \end{aligned}$$

The inverse of this matrix equals

$$\begin{bmatrix} \frac{1}{1-\lambda} & 0 & 0 & 0 & 0 \\ \frac{\lambda}{(1-\lambda)^2}x & \frac{1}{1-\lambda} & 0 & 0 & 0 \\ \frac{\lambda^2+\lambda}{2(1-\lambda)^3}x^2 & \frac{\lambda}{(1-\lambda)^2}x & \frac{1}{1-\lambda} & 0 & 0 \\ \frac{\lambda^3+4\lambda^2+\lambda}{3(1-\lambda)^4}x^3 & \frac{\lambda^2+\lambda}{(1-\lambda)^3}x^2 & \frac{\lambda}{(1-\lambda)^2}2x & \frac{1}{1-\lambda} & 0 \\ \frac{\lambda^4+11\lambda^3+11\lambda^2+\lambda}{4(1-\lambda)^5}x^4 & \frac{\lambda^3+4\lambda^2+\lambda}{(1-\lambda)^4}x^3 & \frac{\lambda^2+\lambda}{(1-\lambda)^3}3x^2 & \frac{\lambda}{(1-\lambda)^2}3x & \frac{1}{1-\lambda} \end{bmatrix}.$$

3. CONCLUSION

In the present paper we define a symmetric matrix and in its Cholesky factorization we see a matrix which has a connection with Pascal matrices. Based on the matrix in this factorization, we introduce two new matrices related to the Pascal matrix. We obtain several factorizations of these matrices and see the relations with Fibonacci matrices, Bernoulli polynomials and Stirling numbers.

DISCLOSURE STATEMENT

We declare that we have no competing interests.

REFERENCES

- [1] R. Aggarwala, M.P. Lamoureux, *Inverting the Pascal matrix plus one*, Amer. Math. Monthly, **109** (2002), 371–377.
- [2] M. Bayat, H. Teimoori, *The linear algebra of the generalized Pascal functional matrix*, Linear Algebra Appl., **295** (1999), 81–89.
- [3] M. Bayat, H. Teimoori, *Pascal k -eliminated functional matrix and its property*, Linear Algebra Appl., **308 (1-3)**(2000), 65–75.
- [4] R. Brawer, *Potenzen der Pascalmatrix und eine Identität der Kombinatorik*, Elem. der Math., **45** (1990), 107–110.
- [5] R. Brawer, M. Pirovino, *The linear algebra of the Pascal matrix*, Linear Algebra Appl., **174** (1992), 13–23.
- [6] G.S. Call, D.J. Velleman, *Pascal's matrices*, Amer. Math. Monthly, **100** (1993), 372–376.
- [7] A. Edelman, G. Strang, *Pascal matrices*, Amer. Math. Monthly, **111 (3)** (2004), 189–197.
- [8] T. Ernst, *Faktorisierungen von q -Pascalmatrizen (Factorizations of q -Pascal matrices)*, Algebras Groups Geom., **31 (4)** (2014), 387–405.
- [9] T. Ernst, *Factorizations for q -Pascal matrices of two variables*, Spec. Matrices, **3** (2015), 207–213.
- [10] R.A. Horn, C.R. Johnson, *Matrix Analysis*, Cambridge University Press, Cambridge, New York, New Rochelle, Melbourne, Sydney, 1986.
- [11] D. S. Kim, T. Kim, *A matrix approach to some identities involving Sheffer polynomial sequences*, Appl. Math. Comput., **253** (2015), 83–101.
- [12] M. Spivey, A. Zimmer, *Symmetric polynomials, Pascal matrices and Stirling matrices*, Linear Algebra Appl., **428** (2008), 1127–1134.
- [13] J.E. Strum, *Binomial matrices*, Two-year College Math. J., **8 (5)** (1977), 260–266.
- [14] Y. Yang, C. Micek, *Generalized Pascal functional matrix and its applications*, Linear Algebra Appl., **423** (2007), 230–245.
- [15] Z. Zhang, *The linear algebra of the generalized Pascal matrix*, Linear Algebra Appl., **250** (1997), 51–60.
- [16] Z. Zhang, M. Liu, *An extension of the generalized Pascal matrix and its algebraic properties*, Linear Algebra Appl., **271** (1998), 169–177.
- [17] Z. Zhang, X. Wang, *A factorization of the symmetric Pascal matrix involving the Fibonacci matrix*, Discrete Appl. Math., **155** (2007), 2371–2376.
- [18] X. Zhao, T. Wang, *The algebraic properties of the generalized Pascal functional matrices associated with the exponential families*, Linear Algebra Appl., **318** (2000), 45–52.

- [19] D.Y. Zheng, I. Akkus, G. Kizilaslan, *The Linear Algebra of a Pascal-like Matrix*, Linear and Multilinear Algebra, **70 (14)** (2022), 2629–2641.

(Gonca Kizilaslan) DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE AND ARTS, KIRIKKALE UNIVERSITY, TR-71450 KIRIKKALE – TURKEY
ORCID: 0000-0003-1816-6095

(Taekyun Kim) DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA
Email address, T. Kim: tkkim@kw.ac.kr

(Dmity V. Dolgy) KWANGWOON GLOBAL EDUCATION CENTER, KWANGWOON UNIVERSITY SEOUL, 01897, REPUBLIC OF KOREA